Telecommunications Exercise

For this exercise, divide into teams of at least four people and at most six.  These teams will be identified by letters A, B, C, D, etc.

Each team will have to units of approximately equal size (2+2, say, or 3+3 or 3+2).  These will be called the “Local” unit and the “Remote” unit.

Each unit will be given a pack of cards.

The units will segregate on opposite sides of the room.  All Local units will convene on the right side of the room and all Remote units on the left, by team.  Hence the right side of the room will have LocalA, LocalB, LocalC, LocalD, etc. and the left side will have RemoteA, RemoteB, RemoteC, etc.

The instructor is the timekeeper.  He will signal “START” and “END”.  In between, you may organizeyour work in whatever way you like.  The goal is to solve the puzzle that the cards present by identifying the hidden number.  The team that solves the puzzle first will (1) win a small prize and (2) inform everyone else of its secrets for success.

Either the local or the remote team can solve the puzzle.  However, only the local team can announce the solution to the instructor.
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Each team can call to the other and present data.  This data can only be presented in the following form: Cell  x,y has the value light/dark, where x and y are coordinates.  For simplicity and order, let us agree that you will use the coordinate scheme pictured to the left.  This example has a cell which is dark, but if it were light, you would say “Cell 8,6 is light.”  

The remote team may also say “The solution is” followed by the solution.  This is a signal to the local team to inform the instructor.

Any team that informs the instructor incorrectly will be eliminated.  The winning team will be the first team to solve the puzzle or, if no solution is presented, the last team still participating.  

After the game, we’ll discuss the barriers to telecommunication and also how to speed up solutions and overcome the barriers.
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Cell coordinates are “8” and “6” in that order

You say “Cell 8, 6 is dark”












